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Section A

1. The simplest form of  is :

A. 

0. 6̄

66

99

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2TPglEmxhKmB


B. 

C. 

D. 

Answer:

Watch Video Solution

6

9

6

99

66

9

2. If (x +1) is a factor of the polynomial

 then the value of a is :

Watch Video Solution

2x2 + 2ax + 5x + 10,

https://dl.doubtnut.com/l/_2TPglEmxhKmB
https://dl.doubtnut.com/l/_7NAqmrPLoemO


3. If sin A =  , then find the value of cos A.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

2

1

√2

√3

2

1

https://dl.doubtnut.com/l/_4sa0tBGNXGz7


4. The probability that a leap year, selected at

random. will contain 53 Sunday is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

7

2

7

3

7

4
7

https://dl.doubtnut.com/l/_ze1pHhHmSzzO
https://dl.doubtnut.com/l/_XTpUIqLAp1P5


5. Find the value of k for which the system of

linear equations  has

uniques solution.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x + ky = 0, 2x − y = 0

k ≠ =
1

2

k ≠
3

2

k ≠
1

2

k ≠ −
3

2

https://dl.doubtnut.com/l/_XTpUIqLAp1P5
https://dl.doubtnut.com/l/_hl3aFMz75JIf


6. If  then x

is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tanx = sin 45∘ cos 45∘ + sin 30∘

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_hl3aFMz75JIf


7. If  then the value of m

+ n - p is

A. 2

B. 4

C. 7

D. 11

Answer:

Watch Video Solution

504 = 2m × 3n × 7p,

https://dl.doubtnut.com/l/_aTvv4fcAgarJ
https://dl.doubtnut.com/l/_myPBAY4DQaLH


8. What is the area of a circle which can be

inscribed in a square of side 8 cm ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9πcm2

12πcm2

16πcm2

36πcm2

https://dl.doubtnut.com/l/_myPBAY4DQaLH


9. Find the distance AB, where A and B are the

points (-6,7) and (-1,-5) respectively.

A. 12

B. 13

C. 21

D. 19

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0bMQTVHlhkvC
https://dl.doubtnut.com/l/_iqEDZQR4YgMT


10. What is the smallest odd compostive

number ?

A. 1

B. 5

C. 9

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_iqEDZQR4YgMT


11. If M (5a,9) is the mid-point of A (4,10) and B

(2a,8), then the value of a is :

A. 2

B. 1

C. 

D. 

Answer:

Watch Video Solution

1

2

−1

https://dl.doubtnut.com/l/_ddzCsZcbNk7Y


Section B

1. A piggy bank contains hundred 50p coins,

fifty Rs. 1 coins, twenty ?
2 coins and ten Rs. 5

coins. If it is equally likely that one of the coins

will fall out when the bank is turned upside

down, what is the probability
 that the coin (i)

will be a

A. 

B. 

C. 

8

25

7
25

3

25

https://dl.doubtnut.com/l/_si4lNvN2DQWM


D. 

Answer:

Watch Video Solution

1

25

2. The value of x in the given factor tree is : 

A. 360

https://dl.doubtnut.com/l/_si4lNvN2DQWM
https://dl.doubtnut.com/l/_CX3aJFgbzemE


B. 1620

C. 630

D. 1260

Answer:

Watch Video Solution

3. If  the value of 

 is :

A. 25

tan θ + cot θ = 5,

tan2 θ + cot2 θ

https://dl.doubtnut.com/l/_CX3aJFgbzemE
https://dl.doubtnut.com/l/_cLCMNsWzA3uy


B. 23

C. 27

D. 15

Answer:

Watch Video Solution

4. Find the radius of a circle whose centre is at

the origin and a point P(5, 0) lies on its

circumference.

https://dl.doubtnut.com/l/_cLCMNsWzA3uy
https://dl.doubtnut.com/l/_H3Cg0NjLODYp


A. 34 units

B. 8 units

C. 5 units

D. 7 units

Answer:

Watch Video Solution

5. The solution of the pair of linear equations

represented by lines  in the givenl1 and l2,

https://dl.doubtnut.com/l/_H3Cg0NjLODYp
https://dl.doubtnut.com/l/_sEpLFIwwOrYN


graph, is: 

A. (4,0)

B. 

C. 

D. 

(0, )
1
2

(2, − 2)

( − 4, 0)

https://dl.doubtnut.com/l/_sEpLFIwwOrYN


Answer:

Watch Video Solution

6. A single letter is selected at random from

the word "PROBABILITY" . The probability that

it is a vowel is

A. 

B. 

C. 

D. 

4
11

5

11

6

11

7
11

https://dl.doubtnut.com/l/_sEpLFIwwOrYN
https://dl.doubtnut.com/l/_oLjrgRuVCAKn


Answer:

Watch Video Solution

7. The HCF and LCM of two numbers are 9 and

360, respectively. If one number is 45, then the

other number is:

A. 36

B. 18

C. 72

D. 35

https://dl.doubtnut.com/l/_oLjrgRuVCAKn
https://dl.doubtnut.com/l/_eCXajgDMYLA5


Answer:

Watch Video Solution

8. In the given figure, if AOB is diameter, then

the area of shaded region is: [Use ] 

A. 

π = 3.14

61cm2

https://dl.doubtnut.com/l/_eCXajgDMYLA5
https://dl.doubtnut.com/l/_OMUuExQ6C3vG


B. 

C. 

D. 

Answer: A

Watch Video Solution

532cm2

147cm2

227cm2

9. The larger of two supplementary angles

exceeds thrice the smaller by 20 degrees. Find

them.

https://dl.doubtnut.com/l/_OMUuExQ6C3vG
https://dl.doubtnut.com/l/_EpWcyvlyLOVY


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

40∘ , 50∘

27.5∘ , 62.5∘

140∘ , 40∘

135∘ , 45∘ ,

10. In , right angled at C, 

inches and , then length of DE

will be:

△ DEC EC = 24

∠EDC = 30∘

https://dl.doubtnut.com/l/_EpWcyvlyLOVY
https://dl.doubtnut.com/l/_eVB5mYr4LUcy


A. 12 inches

B. 24 inches

C. inches

D.  inches

Answer:

Watch Video Solution

16√3

8√3

11. The solutions of pair of linear equations

x+y=3 and 4x-3y=26,will be:

https://dl.doubtnut.com/l/_eVB5mYr4LUcy
https://dl.doubtnut.com/l/_qtfUQONvFflw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 5, y = − 2

x = 5, y = 9

x = − 2, y = 5

x = 9, y = 5

12. Find the coordinates of the point which

divides the line segment joining the points

A(4, -3) and B(9, 7) in the ratio: 3:2.

https://dl.doubtnut.com/l/_qtfUQONvFflw
https://dl.doubtnut.com/l/_Iz6RxkgKWZNs


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(7, 3)

(4, 2)

(5, 6)

(9, 4)

13. In the given figure, from a rectangular

region ABCD with  a right triangle

AED with  and , is cut

AB = 20cm

AE = 9cm DE = 12cm

https://dl.doubtnut.com/l/_Iz6RxkgKWZNs
https://dl.doubtnut.com/l/_7z2hvoJpEECH


off. On the other end, taking BC as diameter, a

semicircle is added on outside the region. The

area of the shaded region. 

[Use ] 

A. 

B. 

C. 

π = 3.14

84.55cm2

72.63cm2

84.55cm

https://dl.doubtnut.com/l/_7z2hvoJpEECH


Section C

D. 

Answer:

Watch Video Solution

72.63cm

1. The highway overpass is represented

graphically.
 Zeroes of a polynomial can be

expressed graphically. Number of zeroes of

polynomial is equal to number of points where

https://dl.doubtnut.com/l/_7z2hvoJpEECH
https://dl.doubtnut.com/l/_nqXjLkMvhGfN


the graph of polynomial 

(i) Intersects x-axis


(ii) Intersects y-axis


(iii) Intersects y-axis or x-axis


(iv)None of the above

A. intersect X-axis

B. cuts y-axis

C. intersect y-axis

D. intersect origin

Answer:

https://dl.doubtnut.com/l/_nqXjLkMvhGfN


Watch Video Solution

2.  


Evaluate from the graph, the zeroes of the

polynomial function.

A. −4, 1, 3

https://dl.doubtnut.com/l/_nqXjLkMvhGfN
https://dl.doubtnut.com/l/_PNbuVeSfbLAC


B. 

C. 

D. 

Answer:

Watch Video Solution

−4, − 1, − 3

4, 1, 3

−4, − 1, 3

https://dl.doubtnut.com/l/_PNbuVeSfbLAC


3. 

 


What is the maximum number of zeroes of the

given graph?

Watch Video Solution

https://dl.doubtnut.com/l/_qeewtZBELqdA


4. The graphs of  are given in figures

below. Which among the following shows that

 has no zero ?

A. 

B. 

C. 

y = p(x)

p(x)

https://dl.doubtnut.com/l/_ihv6cveUAWii


D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ihv6cveUAWii


5.  


The graph of y = f(x) is given. How many zeroes

are there of f(x)?

A. 0

B. 1

C. 2

https://dl.doubtnut.com/l/_8hbXLWdbCh75


D. 3

Answer:

Watch Video Solution

6. Suresh's field is in the shape of a trapezium,

whose map is in the scale 1 cm = 20 m. He want

to draw four divisons in his field, so he could

grow four different drops. The field is divided

into four parts by joining the opposite vertices

https://dl.doubtnut.com/l/_8hbXLWdbCh75
https://dl.doubtnut.com/l/_mkEN3TGx3I7A


 


Triangles AOB and COD are:

A. similar by SAS criteria

B. similar by RHS criteria

C. similar by AA criteria

D. not similar

https://dl.doubtnut.com/l/_mkEN3TGx3I7A


Answer:

Watch Video Solution

7. If , then

differentiation of y wrt x is equal to= ?

A. 

B. 

C. 

D. 

y = tan− 1(secx − tanx)

1: 4

1: 2

2: 1

4: 1

https://dl.doubtnut.com/l/_mkEN3TGx3I7A
https://dl.doubtnut.com/l/_evCAUCSGkD1c


Answer:

Watch Video Solution

8. Which of the following would be true, if the

ratio of the perimeters of two similar triangles

 and  would have been 1 : 4 ?

A. 

B. 

C. 

D. 

ΔAOB ΔCOD

CD = 2AB

CD = 4AB

AB = 2CD

AB = 4CD

https://dl.doubtnut.com/l/_evCAUCSGkD1c
https://dl.doubtnut.com/l/_r5ZYh0PVZzZj


Answer:

Watch Video Solution

9. If in triangles PQR and XYZ

 then :

A. 

B. 

C. 

D. 

= = ,
PQ

XZ

PR

XY

QR

YZ

ΔPRQ − ΔXZY

ΔQRP − ΔYXZ

ΔPQR − ΔXYZ

ΔPQR − ΔXZY

https://dl.doubtnut.com/l/_r5ZYh0PVZzZj
https://dl.doubtnut.com/l/_b4ImdPrfxOcx


Answer:

Watch Video Solution

10. If , then

differentiation of y wrt x is equal to= ?

A. Their altitudes have a ratio a:b.

B. Their medians have a ratio 

C. Their angle bisectors have a ratio 

D. The ratio of their perimeters is 3a:b.

y = tan− 1(secx − tanx)

: b
a

2

a2 : b2

https://dl.doubtnut.com/l/_b4ImdPrfxOcx
https://dl.doubtnut.com/l/_UNOlZCwAVEhy


Part A Section I

Answer:

Watch Video Solution

1. If ,

then find HCF (x,y)

Watch Video Solution

x = 22 × 33 × 72, y = 23 × 32 × 5 × 7

https://dl.doubtnut.com/l/_UNOlZCwAVEhy
https://dl.doubtnut.com/l/_LEvkIaBeVCSb


2. What is the HCF of the smallest prime

number and the smallest composite number?

Watch Video Solution

3. if  are the roots of the equation 

 then sum of their reciprocals

Watch Video Solution

α, β

5x2 − 7x + 2

https://dl.doubtnut.com/l/_ABpT2b1ZlszF
https://dl.doubtnut.com/l/_SfhsC1WTkvK4


4. If the lines represened by  and

 are parallel, then find the

value of p.

Watch Video Solution

3x + 2py = 2

2x + 5y + 1 = 0

5. Find the  term of the AP, 7, 10, 13,.....

Watch Video Solution

14th

https://dl.doubtnut.com/l/_UtjjdBt5u0hy
https://dl.doubtnut.com/l/_sHBq1wtfk2SQ


6. Solve for x and y  and 

.

Watch Video Solution

y, x + y = 3

7x + 6y = 2

7. Form a quadratic polynomial, whose zeros

are -2and 8.

Watch Video Solution

https://dl.doubtnut.com/l/_qancisNRRqR8
https://dl.doubtnut.com/l/_mSq17vRaWsjK


8. For what values of 'a' does the quadratic

equation  not have real

roots?

Watch Video Solution

x2 − ax + 1 = 0

9. If p and q are the roots of the quadratic

equation , then find the

values of p and q.

Watch Video Solution

x2 + px − q = 0

https://dl.doubtnut.com/l/_zx8QHfwdWaa6
https://dl.doubtnut.com/l/_UeCFyJwWeEth
https://dl.doubtnut.com/l/_RaCivA2OXguH


10. Which term of the AP, 2, 19, 36, 53, ………, is

172?

Watch Video Solution

11. Find the distance between the points (3,4)

and (6,5).

Watch Video Solution

https://dl.doubtnut.com/l/_RaCivA2OXguH
https://dl.doubtnut.com/l/_gKDj467kdWMP


12. The perimeter of a tringle with vertices

(0,4),(0,0) and (3,0) is

Watch Video Solution

13. In the figure, if  and AD=BE. Prove

that CD = CE. 

∠A = ∠B

https://dl.doubtnut.com/l/_qaTRnMrU4SPT
https://dl.doubtnut.com/l/_kEMWmZctWbK8


Watch Video Solution

14. What is the
 distance between two parallel

tangents to a circle of radius 5 cm?

Watch Video Solution

15. In the figure, . Find the

length of OP. 

∠APB = 90∘

https://dl.doubtnut.com/l/_kEMWmZctWbK8
https://dl.doubtnut.com/l/_85eVD2O9Ly7h
https://dl.doubtnut.com/l/_JcsM1EnSER2k


Watch Video Solution

16.  such that 

 and 

. Find the perimeter of 

Watch Video Solution

ΔABC~ΔDEF

DE = 3cm, EF = 2cm, DF = 2.5cm

BC = 4cm ΔABC.

https://dl.doubtnut.com/l/_JcsM1EnSER2k
https://dl.doubtnut.com/l/_Wu6rdov1XvML


17. Draw a line segment of length 8 cm and

divides it in the ratio 

Watch Video Solution

2: 3

18. If , then find the

value of  .

Watch Video Solution

cos ecA − cot A = 1.3

cos ecA + cot A

https://dl.doubtnut.com/l/_Wu6rdov1XvML
https://dl.doubtnut.com/l/_P74Oq3ZAWHuS
https://dl.doubtnut.com/l/_Iu7EFTXQjYK5


19. If ABC is right angled at C, then find the

value of cos (A + B)

Watch Video Solution

Δ

20. A wire is in the shape of a circle of radius

100cm. It is bent to form a square. Find the

length of its side. (Take  = 3.14)

Watch Video Solution

π

https://dl.doubtnut.com/l/_3Nq2ksB5RQN6
https://dl.doubtnut.com/l/_883okd82YoDF


Part A Section Ii

21. If the areas
 of three adjacent faces of a

cuboid are 
 respectively,
 then the

volume of the cuboid is
 
(b) 
(c) 

(d) 

Watch Video Solution

x,  y,  z

xyz 2xyz √xyz

3√xyz

1. Solve for x:

Watch Video Solution

− 2x = + 4
3x + 8

4

3x + 2

2

https://dl.doubtnut.com/l/_Eiz5KTLtZ3hz
https://dl.doubtnut.com/l/_p3HNM7dtEf22


2. A mobile tower stands at the top of a hill.

Consider the surface on which the tower

stands as a plane having points A(1, 0, 2), B(3,

-1, 1) and C(1, 2, 1) on it. The mobile tower is

tied with 3 cables from the point A, B and C

such that it stands vertically on the ground.

The top of the tower is at the point (2, 3, 1) as

shown in the figure. 

https://dl.doubtnut.com/l/_p3HNM7dtEf22
https://dl.doubtnut.com/l/_s43lIRNKR0Pl


 


Based on the above answer the following: 

The height of the tower from the ground is

A. 

B. 

C. 

D. 

45∘

30∘

60∘

75∘

https://dl.doubtnut.com/l/_s43lIRNKR0Pl


Answer:

Watch Video Solution

3. A disc of mass  and radius  can rotate

freely in a vertical plane about a horizontal

axis at  distance  from the centre of the

disc as shown in Fig. The disc is released from

rest in the shown position. Answer the

following questions based on the above

information 

M R

O r

https://dl.doubtnut.com/l/_s43lIRNKR0Pl
https://dl.doubtnut.com/l/_SFf00YgwMQSk


 


Reaction force exerted by the hinge on the

disc at the instant when disc rotates by an

angle of is

A. 

B. 

C. 

37∘

60∘

75∘

30∘

https://dl.doubtnut.com/l/_SFf00YgwMQSk


D. 

Answer:

Watch Video Solution

45∘

4. In a row of children, Deepti is ninth from the

left and Kashish is thirteenth from the right.

They exchange their positions and then Deepti

becomes seventeenth from the left. Find the

new position of Kashish from the right end of

the row.

https://dl.doubtnut.com/l/_SFf00YgwMQSk
https://dl.doubtnut.com/l/_lcFzBCAhyeVM


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15∘

25∘

30∘

45∘

5. In , right angled at B, if 

 and , then find AB

and BC.

△ ABC

AB :BC = 3: 4 AC = 20

https://dl.doubtnut.com/l/_lcFzBCAhyeVM
https://dl.doubtnut.com/l/_O4Ba1bDgK2vj


Watch Video Solution

6. If

are acute angle then the value of  is

_____________.

A. r-2

B. 

C. 

D. 

sin 3θ = cos(θ − 6∘ ),  where 3θ and (θ − 6∘ )

θ

√r2 + 42

r + 2

√r2 − 42

https://dl.doubtnut.com/l/_O4Ba1bDgK2vj
https://dl.doubtnut.com/l/_A42k4PIqGpIQ


Answer:

Watch Video Solution

7. If

are acute angle then the value of  is

_____________.

A. 5 m

B. 6 m

C. 9 m

sin 3θ = cos(θ − 6∘ ),  where 3θ and (θ − 6∘ )

θ

https://dl.doubtnut.com/l/_A42k4PIqGpIQ
https://dl.doubtnut.com/l/_U4NMq50iJLfM


D. 12 m

Answer:

Watch Video Solution

8. If , then

differentiation of y wrt x is equal to= ?

A. 

B. 

C. 

y = tan− 1(secx − tanx)

90∘

60∘

120∘

https://dl.doubtnut.com/l/_U4NMq50iJLfM
https://dl.doubtnut.com/l/_hoqcphiUJngs


D. 

Answer:

Watch Video Solution

106∘

9. If ,  and , then 

Watch Video Solution

a : b = 2: 3 b : c = 4: 5 c = 15

a2 − b = ?

https://dl.doubtnut.com/l/_hoqcphiUJngs
https://dl.doubtnut.com/l/_WlN83Eex6Hus


10. The perpenidicular drawn from the centre

of a circle bisects any chord of the circle. The

following are the steps involved in proving the

above result. Arrange them in sequential

order. 

 


(A) Let  . 
¯̄¯̄¯̄OD ⊥ ¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_ESzmBPqvQlvA


(B) Let AB be the chord of the circle with

centre O. 

(C )  ( By RHS congruence

property). 

(D )  (radii),  ( common

side) and  


(E )  ( corresponding parts in

congurents triangles ).

A. 752 cu m

B. 805 cu m

C. 1016 cu m

ΔODA ≡ ΔODB

OA = OB OD = OD

∠ODA = ∠ODB = 90∘

AD = DB

https://dl.doubtnut.com/l/_ESzmBPqvQlvA


D. 1214 cu m

Answer:

Watch Video Solution

11.  


If total number of apples is 250, the value of p

is

A. 50

B. 40

https://dl.doubtnut.com/l/_ESzmBPqvQlvA
https://dl.doubtnut.com/l/_Cx0SIOEi63ZA


C. 35

D. 45

Answer:

Watch Video Solution

12. Find a polynomial with sum of roots as 7

and product of roots as 3.

Watch Video Solution

https://dl.doubtnut.com/l/_Cx0SIOEi63ZA
https://dl.doubtnut.com/l/_AA9GpH0k9AzN


13.  


If total number of apples is 250, the mean

mass of the apples is

A. 139 g

B. 142 g

C. 150 g

D. 156 g

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AzBN8NdVynVe


14.  


If total number of apples is 250, then the

upper limit of the median class is

A. 80

B. 100

C. 120

D. 140

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2zFnswqvnFnt


15. If  and 

, , Then

find the value of .

Watch Video Solution

tan(A − B) =
1

√3

cos(A + B) =
1
2

0∘ < A, B < 90∘

A + 3B

16. The probability that a machine will accept a

particular Rs 1 coin is 0.9. The probability that

the machine will not accept a particular Rs 1

coin, is

A. 0.01

https://dl.doubtnut.com/l/_0xLGtwsDGtiY
https://dl.doubtnut.com/l/_WTHvnAf6ElyB


B. 0.1

C. 0.02

D. 0.2

Answer:

Watch Video Solution

17. If 10 coins of Rs. 10, five coins of Rs. 5 are to

be placed in a line, then the probability that

the extreme coins are of Rs. 5 is

https://dl.doubtnut.com/l/_WTHvnAf6ElyB
https://dl.doubtnut.com/l/_xnXCwjRMs8OI


A. 0.01

B. 0.1

C. 0.02

D. 0.2

Answer:

Watch Video Solution

18. The probability that the machine will

accept a particular Rs 1 coin is 0.9. Jayant has

https://dl.doubtnut.com/l/_xnXCwjRMs8OI
https://dl.doubtnut.com/l/_PnQpEAuwrvlM


three Rs 1 coins. The probability that the

machine accept all these coins, is

A. 0.729

B. 0.81

C. 0.9

D. 0.271

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PnQpEAuwrvlM


19. The probability that the machine will

accept a particular Rs 1 coin is 0.9. Jayant has

three Rs 1 coins. The probability that the

machine accept none of these coins, is

A. 0.729

B. 0.81

C. 0.9

D. 0.271

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_h8vNNHgLW9kF


Part B Section Iii

Watch Video Solution

20. Solve: 

Watch Video Solution

0. ¯̄̄¯43 − 1. ¯̄̄¯76 + 3. ¯̄̄¯12

1. Given that  is irrational , prove that

 is an irrational number.

Watch Video Solution

√5

2√5 − 3

https://dl.doubtnut.com/l/_h8vNNHgLW9kF
https://dl.doubtnut.com/l/_KUzy5oWsBkrl
https://dl.doubtnut.com/l/_2cLM1vld3AzP


2. Without actually performing the long

divison, find if  will have terminating or

non-terminating (repeating) decimal

expansion. Give reasons for your answer

Watch Video Solution

987
10500

3. Prove that the points

 are

collinear.

Watch Video Solution

(a, b + c), (b, c + a) and (c, a + b)

https://dl.doubtnut.com/l/_3phHM0pw6t1R
https://dl.doubtnut.com/l/_H3vjkusZ3fka


4. The two opposite vertices of a square are

Find the coordinates of the

other two vertices.

Watch Video Solution

(1,  2) and (3,  2).

5. In the figure, OABC is a rhombus, where O is

the origin.

https://dl.doubtnut.com/l/_H3vjkusZ3fka
https://dl.doubtnut.com/l/_dLiGnFRGzpWv
https://dl.doubtnut.com/l/_Xz2qqBY1dCWu


 


Write down the coordinates of B in terms of a,

s and t.

Watch Video Solution

6. ABC is an isosceles triangle in which AB = AC.

Prove that the tangent to the circum-circle at

A is parallel to BC.

https://dl.doubtnut.com/l/_Xz2qqBY1dCWu
https://dl.doubtnut.com/l/_N9f89rwhWjEm


Watch Video Solution

7. In an acute angled

 and 

. Find the three

angles of 

Watch Video Solution

ΔABC, sec(B + C − A) = 2

tan(C + A − B) =
1

√3

ΔABC.

8. Find the perimeter of the shaded region in

the figure,if ABCD is a square of side 14 cm and

https://dl.doubtnut.com/l/_N9f89rwhWjEm
https://dl.doubtnut.com/l/_wx1OpcnahY0z
https://dl.doubtnut.com/l/_Xbx3PwUjGpGO


Part B Section Iv

APB and CPD are semicircles. 

Watch Video Solution

https://dl.doubtnut.com/l/_Xbx3PwUjGpGO


1. Show that  cannot end with the digits 

or  for any natural number 

Watch Video Solution

12n 0

5 n

2. Which term of the AP: -5, 3, 11, ..., will be 83?

Watch Video Solution

3. If one of the zeroes of the cubic polynomial

 is ,then find thex3 + ax2 + bx + c −1

https://dl.doubtnut.com/l/_ykAsofvQVbOv
https://dl.doubtnut.com/l/_pZid4nle9whU
https://dl.doubtnut.com/l/_fvsDhug117dy


product of other two zeroes.

Watch Video Solution

4.  has 


(i) four real roots (ii) two real roots 

(iii) no real roots (iv) one real root

Watch Video Solution

(x2 + 1)
2

− x2 = 0

5. 5 books and 7 pens together cost Rs 434,

whereas 7 books and 5 pens together cost Rs

https://dl.doubtnut.com/l/_fvsDhug117dy
https://dl.doubtnut.com/l/_f7RA4epzbjWN
https://dl.doubtnut.com/l/_9CS7n4dodyg3


550, find the total cost of 1 book and 2 pens.

Watch Video Solution

6. 

Watch Video Solution

(tanA)(1 + secA) − = 2 cos ecA
tanA

1 − secA

7. If , find the value of 

.

Watch Video Solution

sin θ =
12

13

−
sin2 θ − cos2 θ

2 sin θ cos θ

1

tan2 θ

https://dl.doubtnut.com/l/_9CS7n4dodyg3
https://dl.doubtnut.com/l/_TAYsWHzoRCE9
https://dl.doubtnut.com/l/_uuOaG6m8aDze


8. A solid right circular cone is cut into two

parts at the middle of its
 height by a plane

parallel to its base. The ratio of the volume of

the
smaller cone to the whole cone is:
 1:2 (b)

1:4 (c) 1:6
(d) 1:8

Watch Video Solution

9. Find all possible integral values of x for

which satisfy, x2 + 3x − 28 < 0

https://dl.doubtnut.com/l/_uuOaG6m8aDze
https://dl.doubtnut.com/l/_GcP9brgweSyP
https://dl.doubtnut.com/l/_QjdwEQbsNxGx


Part B Section V

Watch Video Solution

1. If the zeros of the polynomial


 are in A.P.,

prove that 
.

Watch Video Solution

f(x) = ax3 + 3bx2 + 3cx + d

2b3 − 3abc + a2d = 0

https://dl.doubtnut.com/l/_QjdwEQbsNxGx
https://dl.doubtnut.com/l/_hgFUeQxEbeIx


2. From the top of a tower h m high, angles of

depression of two objects, which are in line

with the foot of the tower are  and

. Find the distance between the two

objects.

Watch Video Solution

α

β(β > α)

3. Two
 tangents 
 and 
 are drawn
 to a

circle with centre 
from an
external point 
 .

Prove
that 
.

TP TQ

O T

∠PTQ = 2∠OPQ

https://dl.doubtnut.com/l/_7jtg7bN8DJ2x
https://dl.doubtnut.com/l/_zVi5E0jolHqv


Watch Video Solution

4. Prove that the area of the semicircle drawn

on the hypotenuse of a right angled triangle is

equal to the sum of the areas of the

semicircles drawn on the other two sides of

the triangle

Watch Video Solution

https://dl.doubtnut.com/l/_zVi5E0jolHqv
https://dl.doubtnut.com/l/_iIEtB77BUHQ3

